HEFSS

P23 ER LETIAREeEFEEG—REHMFETHE (F25)

FRR2SGFEEM LRTITHBSEEEE RS OMETRRE, KKEDDEIAHIZLD,
(AR TR OHIE)
1% BABRUTEORBICBABHZNENA, 00FHZEML, RARHTEORELZRARDETNALN
11, 093, 600FH & ¥ 5,
2 BABETEHOREOHEORASRUYEKS D EOEFLENICHEROBRARHTREOEEX, [H1X

AR TEAMIE] ZX 5,

Ere24a3H 280 e

LR AR RS A FEHA G
wHE B &R OB O



FH1R BARETHEME
SN (BAL - T
% 2 i IE A @ %A W E # il
1 # & 9, 344, 494 300 9, 344, 794
3 EBE R AR S 320, 893 300 321, 193
4 A & 949, 002 45, 100 994, 102
2 GEMFURELSEAS 339, 000 42, 700 381, 700
3 BEBETER AR 100, 000 2, 100 102, 100
5 BAIRAEXGERAS® 1 300 301
Z A a it 11, 048, 200 45, 400 11, 093, 600
A (BfL : M)
3K H il IE B O i E &t
7T R X W & 58, 070 45, 400 103, 470
1 & 1+ & 1 45, 100 45, 101
3 BUBEAOHIISIRLA 58, 068 300 b8, 368
% H a at 11, 048, 200 45, 400 11, 093, 600




m AR HBHMETHEFHEINHAMEF

I
(% A) (BfL : FF)
# # OE Al 0O #| il IE # At
1 A ik & 9, 344, 494 300 9, 344, 794
4 & A & 949, 002 45, 100 994, 102
m A & Ft 11, 048, 200 45, 400 11, 093, 600
(% H) (BT : M)
WIEHEOMBEAR
2N WHIERTO®R | #i IE @R At ¥ = B R P
T X t & 58, 070 45, 400 103, 470 45, 400
m B & § 11, 048, 200 45, 400 (11, 093, 600 45, 400




2 B A
) 1 BHE
(IB) 3 HhHREAHESE (BAz « T-F)
. . . . i -
g R 3
B M OIERTO® M E M t = x = i}
2 & 208, 086 300 208,386 |1 A i & 300
i 320, 893 300 321,193
(&) 4 #@Ae
() 2 BEFEYNFREESHRAE (BEAT © FH)
5 eTi 5 E = ﬁﬁ =
H M IERI O W E M Fi - 53\ e i) A
1% A & 339, 000 42, 700 381,700 | 1 #& A & 42,700
&t 339, 000 42, 700 381, 700
() 4 HBAL
(|) 3 MEFFEIE/AE (B : TH)
o . - £ 5
A fif IE B © % #i 1L % #t = = - ) ]
1 A & 100, 000 2, 100 102,100 | 1 #& A & 2, 100
i 100, 000 2, 100 102, 100




(#) 4 WAL

(1) 5 BEFEEREEEAE (BAr - TH)
. . _ ] .
E E R B
| il BT © FE|# 2©LE 48 = 5 % = A
1 #& A & 1 300 301 |1 # A & 300
S 1 300 301
3 B H
() 7 FEEHE
(1) 1 JEfr& (BLfY : FH)
- #WME#H o MEAR 2]
B @ B C g
A WMEROME| M E 4 % E ] — W =% - & A A
- . ®2e, #F
18 # & 1 45, 100 45,101 | 45,100 23 Gom 2l 45,100
B 1] 45,100 45,101 | 45,100 ,////,,///’ J/”/,,,«f”’/’
GR) 7 HEH4&
(I8) 3 PLBREERRISEHEHE (BAr )
. #MOIE#8 o MIBEA R i 3
Aff G , R ¢
B WIERT O % | # E %8 P TR T = & y— i A
1#% H 4 58, 068 300 58, 368 300 28 #% B & 300

k=41103
-+

58, 068 300 | 58,368 300 ///,////,,,’///,///’




